	Chapter P
	Prerequisites

	Section 3
	The Cartesian Plane and Graphs of Equations
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	Also called the Cartesian plane, the primary parts are:

· x axis

· y axis

· origin

The x and y axis divide the plane into four quadrants:

I. Upper right: x positive; y positive

II. Upper left: x negative; y positive

III. Lower left: x negative; y negative

IV. Lower right: x positive; y negative

For any point on the plane, its position can be labeled as an ordered pair, using the distance from the y-axis as the x value, and the distance from the x-axis as the y value.
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Formulas
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	The distance between any two points on the plane.
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	Coordinates of the midpoint between any two points on the plane.


Sketching by Plotting Points

Table of Values: Select a number of x values; plug them in to the equation to calculate the y value. Each x and matching y represents an ordered pair that can be plotted on the plane.
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Intercepts

Where the graph of the equation crosses the x or y axis:

	x-intercept
	Let x=0 and solve for y

	y-intercept
	Let y=0 and solve for x


Circles
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	Equation of a circle with the center at (h, k) and a radius of r.
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	Equation of a circle with the center at the origin and a radius of r.


Symmetry

	x-axis

reflection
	-f(x)=f(x)
	The equation is unchanged when y is replaced with –y.
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	f(-x)=-f(x)
	The equation becomes negative when x is replaced with –x.
	

	

	y-axis

reflection
	f(-x)=f(x)
	The equation is unchanged when x is replaced with –x.
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	Origin

180( rotation
	-f(-x)=f(x)
	The equation is unchanged when y is replaced with –y and x is replaced with –x.
	[image: image10.png]





_1135961589.unknown

_1135961813.unknown

_1135962008.unknown

_1135962085.unknown

_1135961802.unknown

_1135961360.unknown

